Review Lessons 7.5 & 7.6 Worksheet Name: \(—b \/

Uselog4 =~ 0.602 and log 7 = 0.845 to evaluate the logarithm.
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Condense the expression.
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Use the change-of-base formula to evaluate the logarithm. Round to 4 decimal places when
necessary.
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Solve the equation. Check for extraneous solutions. Round your solution to three decimal
places if necessary.
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24)3%*1 —5 =10 25.) logs(4x + 7) = log, 11x
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31.) The average weight y (in kilograms) of‘an Atlantic co from the Gulf of Mame can be
modeled by y = 0.51(1.46)* where x is the age of the cod (in years). Estimate the age

of a cod that weighs 15 kllograms —_—
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32.) You deposit $100 into an account that pays 6% annual interest compounded daily. How
long will it take for the bdlance to reach $1.000. A = Y \\ * n) nt-
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